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RESOURCE B: Showrooming and changes in consumer behaviour

Showrooming is the practice of visiting physical retail stores to research merchandise

competitive prices offered for the same products compared with traditional retailers.

Source: https://www.investopedia.com/terms/s/showrooming.asp#:~:text=The%20term%20showrooming%20refers%20
to,online%20for%20a%20lower%20price

RESOURCE C: New store closures — High-end fashion store closes its doors

A high-end fashion store closed its doors for good on Tuesday, tipped into receivership on

two years because they haven’t done their research.”

Source (adapted): www.nzherald.co.nz/business/topshop-closes-its-doors-days-early-after-selling-out-of-stock/
UT3HAW3OWPPBMID4075Q76U3B4/

RESOURCE D: A business expansion opportunity?

As part of CeeGee's growth strategy, Carl, the store owner, and his investment partners
are looking to expand the CeeGee’s brand into other parts of New Zealand. An exciting,
but urgent, opportunity to take over an existing lease in the South Island has presented
itself, due to a store closure. They believe there will be significant customer growth, as
more professionals are relocating from the North Island to find cheaper housing. Despite
having limited knowledge of the South Island’s retail market and no established presence,
Carl believes that if the new store is operated in a similar manner to the North Island
store, it will be a success.
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Using the background information, Resources A and B on pages 2 and 3, and your business
knowledge, answer the following questions.

(a) (i) Why could changes in consumer behaviour be a threat to CeeGee’s economic
sustainability?
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(i) How could showrooming provide an opportunity for CeeGee’s to develop its brand?
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(b) ()

(ii)

6

Identify and explain TWO solutions CeeGee'’s could implement in response to the
changes in consumer behaviour in the retail industry.
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How could EACH solution address the changes in consumer behaviour in the retail
industry?
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(i)  Justify, with TWO reasons, which solution would be more successful than the other.

TW\I\’\\‘B \\\m \wa\\wv&s N\\u an &o&\m m\’%‘f\w 'S
Ne e ek sy & N N B Loeg
{2080 W \H\N\\\X' 3% \o&.\\r\k R M \\r ANLY A8 Waeh
wore e M Do Vo Mo v o \owy o g

Or ‘Qm\\, \‘{\Q/ O w“&w S\ v\é‘\ VVOW 2, ¢
AN nihy wm\mu& W ét\[usﬁi'&§wl \\:\ L \\{,\gﬁco&

Q@@MNS&XW\ qg&MM § So\,

r\\;‘,\g \HO\L\\\ \.\§¢ O“\\l \,s‘\é\b:\ v G \m%é\ W\Sm\ \<>\J\\» \\(

\,Jl\\ ox\gb WA oo Ne e X MNr w?mxmé\ Qérw\\\c\\\i

Nzt ey,

_Avxo\\nar ( L8N mmwmux\x \:st WMNL &mu—rzsiu\\ NS
M \\- \mo\\t\% \N\\Qr QMW\!‘ 5 V‘D‘Q‘. %B W\%M
M Condonary, NS, e Wnace \‘\‘%\‘ Lo o
\ook Mo sae (ol Stee Nadead 1t do S Sy
m\j\w& \P\\w WA &nm\ M (bv\“m(, &\\% s 5\&&-\\»«\:\3

%W\szr\-ir WAL,

Business Studies 90845, 2024 00883



8

Using the background information, Resources C and D on page 3, and your business knowledge,
answer the following questions.

(¢) () Explain TWO reasons why opening a new store in the South Island may prove to be
unsuccessful as a growth strategy for CeeGee’s.
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(i) How could an ineffective growth strategy impact CeeGee’s economic sustainability?
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(d) (i) Identify and explain TWO solutions that CeeGee’s could implement to enable it to operate
successfully in the South Island.
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(i) How could EACH solution ensure that opening a new store in the South Island is a
success?
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(i)  Justify, with TWO reasons, which solution is likely to be more effective to implement than
the other.
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Q Grade Marker commentary
score
This response identified and explained the four solutions required. The
candidate also analysed the impact and suggested flow-on effects for the first
One M5 part of the task. While they attempted to do the same for the second part,

their analysis was much weaker and did not include any attempts at
addressing the flow-on effects.
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